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Time Allowed : 3.00 Hours ] ' _ ‘ : [Maximum Marks : 100 -

Sifleyemract : (1) mansg elamssEpd sflurs SiFsl uflurd e drarst adaugaman
' &ﬂurrrrg,g;]a; Qarerereyd. sFsLILHND GarpulmLndes @4@95 _
samsrafliureriLib. 2 | angwrs OgfefésayLb.

2 B wdwg seLUY oovlea LLEGCL aWsUSHED
<135CaMgHeughHGL Lwau®ss C‘Samm@m UL BIGET euenfeusnHE@
Quendlé uweTU(hSSeyLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

~

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

&Py : @&aﬁ]mr@r,gmﬁ BeE LGdHasamer QsraimLg). '

u@$ -1 /PART - 1
@Moy : (i) é{mmg,g,j aﬂcarrra;e;@o;@m Gﬁ]mL_u_lsrﬂo;a;mm 14x1=14

(ii) G]&;rr@m;uul_L wres@ elloLsaild Waseab ghymLw alamrulmern
Caip@s058 @GOG aﬁ]sm_uﬁlmmu.qm Gsirgs) m‘@g@qm
Note : G Answer all the questions.

(i) Choose the most approprmle answer from the given four alternatives and write
the opnon code and the correspondmg answer. -
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2

A={1, 2, 3, 4, 5} -eD(HHg B erenm sanddn@ 1024 &[Deu&;ev p_mmg] erafley B -&
o arer 2 giysallen rameEfEms :

(1) 3 (@2 @+ (s

If there are 1024 relations from a sct A={1, 2, 3, 4, 5} to sct B, then the number of
clements in B is :

(a) 3 b) 2 (c) 4 (d) 8

R={(x, x2)/x -<pengy 13 - 69L& GODAUTET LIGT eraimaat eren 2 medlen ef5s510meng) -

(=1) 2,3,5,7) : () 2,3,5,7, 11}

(8) 4,9, 25,49, 121} (F) {1, 4,9, 25, 49, 121}

The range of the relation R={(x, x2)/x is a Prime number less than 13}.is ;
(a) {2,3,5 7 - (b) {2,3,5,7, 11}

(c) 4,9, 25,49, 121} (d) {1,4,9, 25, 49, 121}

1729 -g L&TE 5rmmﬂuu®g;gﬂm Curg, élg;g; usT Grarura;aﬂem a@a@&&ﬂm aax(b\g,a)
(=) 1 - (=) 2 (@) 3 | () 4

" The sum of the exponents of the Prime factors in the.Prime factorization of .1729

is :

(@) 1 - (b) 2 (o) .3 ' (d) 4

epenm wrhlsald Siewps ppanm Coilwed swarur@aeiien AsrEIIHE g_?;r'.ra.la;sh.
Aoaabueis, SiFSTEUI0 2 drer FaThsT :

(<=1) @Cr @@ yaralude Qe B&enper
(<) @Cr @@ Camliyd daulGddmparn
(@) gendlar Bg) @i QUTGLSID
() gemepQuirenny QaulLrg

_A system of three linear equations in the three variables'is inconsistent if their .

planes :

(a) Intersect only at a point

" (b) Intersect in a line

(c) Coincide with each other

(d) Do not intersect
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A 4
L sfe Qauaiuiypts yerMOAmps el Lsdie aspoa AgnOCsTOa
cuenFwemd ? ' , .

(o) gy - ) @rem(®
(@) pyaupp craneniléens (7) weglwib
. How many tangents can be drawn to the circle from an exterior point ?
(a) one (b)) two
(c) infinite B (d). zero

3x—-y=4 wpmb x+y=8 < fu CriGaT@sdr spda@n Lerafl
(=) 5,3 (@)2.4 (@) B 95 (rF) 4,4
The point of intersection of 3x—y=4 and x+y=8 is :

@ 53 b 249 (€ .65 @ &4

GesrrL(Bg,gmn@ PQ -uflew srru_wsq J_ erafléd PQ -&@ Qemigssrar @meLn QaJl'_L?ruﬂsiﬂ

Fmiey : _ | o |
: ) 1
(=) V3 (@) -3 @z - Mo
If slope of the line i’Q is —\/% then, slope of the perpendicuiar bisector of PQ is :
(&) V3 N N @ o

@it giuler CuoGa h 5 2 wrsdled a_dTér e Yarafluliefimbg Cuesdlne e erer
gom&ECaramd B. Cws Gbusdar @nsasCarard 45° eafld erflulled @@‘r_r,@

Cussdih@E 2-erer 2wywreng) (BLLfd) :

h(l + tanp) h(1 - tanp)
(=) 1 - tanp (<) 1 + tanp |
(@) htan(45°=B) (F) @oupmicT I Bdma

‘The angle of elevation of a cloud from a point h metre above a lake is . The angle

of depression of its reflection in the lake is 45° The height of location of the
cloud from the lake (in meters) is : .

h(l + tan "h(l - tan
(o) L3 E08) ) - tanp)
. . 1-tanf _ . 1 + tanf
(c) htan(45°-B) “ (d) None of these
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R 2 MmemeTuilen 2 Wrsms WIHDID SiF6 WTEMSL UTHLTHE Q&sne&ﬁ@ y&lw

2 (HEnarT &@mm&uu@eﬂm@ H&w mm@]m pHsw 2 (maarsaflar saroiereysafler
cldlgLb : :

(24) 1:2 () 1:4 (@) 1:6 (/F)- 1:8.

If the radius of the base of a right circular cylinder is halved keeping the same

height then, the ratio of the volume of the cylinder thus obtained to the volume of
original cylinder is :

(a 1:2 b). 1:4 (¢) 1:6 d) 1:8

@ SAenr&Cameng e errg,g,uurjuq DABET UTSHGDL QuiTéasS e
LOL_MBIST(GLD.

() (<23) 47 (@) 3 () 2

The total surface area of hemi- sphere is how much times the square .of its
radius :

@ = b) 4w (©) 3m @ 2=

@@ qgga;re}sé\aﬂ@[_'r;gj éLﬁ@Jrru'.ﬂJn.; wpamuiled (m LIGSLD (Bg,r'rﬁ@g,@é;a;i;u@eﬂmgj <ibS
u&s erauenflen @earpmd @L wHlurerg 7 g s Gapeaurs @EmUuUSDHSTeT
'ﬁasgpg,a;mrrsurgﬂ :

(@) 15 (@) 15 @ 3 (") 2

A page is selected at random from a book. The probability that the digit at units
place of the page number chosen is less than 7 is :

Olw

a) — . ) T4 (c) (d)

R IEN]
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u@gl - II / PART - I1

GOy : stemeuGuieniid .10 demés@ns@ oL wallssa)bn. efar eram 28 -fo@z—zo
sLLmuwrs elewallésaib. - x
Note :

Answer any 10 questions. Question No. 28 is compulsory.

15. AxB=((3, 2), (3, 4), (5, 2), (5, 4)} erafléd A WD B -5 s,
If AXxB={((3, 2), (3, 4), (5, 2), (5, 4)} then find A.and B,

16. A={5, 6}, B=4, 5, 6}, C={5, 6, 7) arafléd AXA=(BxB)N(CxC) erané ST._[D5.

If A={5, 6}, B={4, 5, 6}, C=(5, 6, 7). Show that AxA= (BXB)n(C X C).

WPz 10 Quid eramseTmed Lﬁé]uﬂé&r;f)] QUGULSE Saig Sl GTEusT GTg) ?
Find the least number that is divisible by the first ten natural numbers.

18. —11,-15,-109, .......... erenm dal (B QST cuflensufen 19 -6ugl 2 MU SIS

. Find the 19" term of an A.P, — 11, —15, —19

,' ---------- .

19 400x4yl2216 _ o 8 .
9. 100x8y4z4 & QUTESEELPEILD &TGHITS.
_ 00 x4 12,16
. Find the square root of 4 0x£4z4 .
, : 100x®y“z" -
20.

ABCD erenm @@ sflaisgdlér AB||DC LDHmILD P, Q eranuen WeopCGu usskisdr
AD wHmib BC -ulen ‘g Si@bHglerar Lataflser w@n. Cuaib PQ||IDC,
PD=18 G#.15, BQ=35 Q.5 wpmib QC=15 Qg8 eraflch AD -8 ETas,

ABCD is a trapezium in which AB

. 1 ‘ IDC and P, Q are points on AD and BC respectively,
. such that PQ||DC. If PD=18 cm,

BQ=35 cm and QC=15 cm find AD,

21. A(-1, 2), BK, —2) wpmib C(7, 4) @yflwieupenp cullensiuman paaiydellsarss
' Qe p&Caramsear Ly 22 3T S@ser aafldd K -uQen wHUY Srems.
If area of triangle formed by the vertices A(-1, 2), B(K, ~-2) and C(7, 4) is

22 .sq.units, find the value of K,
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23.

24.

25.

26.

27.

28.
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7
(3, —2), (12, 4) erenp Lyeaflaer ulé Qedgib CriaGHTH P wmib (6, —2) wHmL
(12, 2) eremp yereflsar auiflé Qem)guu) Crir&Car® q 2b@LW. p - q -&G
@mcmu_lrr@u)rr ? .

The line p passes through the points (3, —2), (12, 4) and the line q passes through
the.points (6, —2) and (12, 2). Is p parallel to q ? A ‘

(5, V5) wHmib c%g‘,hllqdmﬂa;mﬁ @mmfe_};@ﬁ Crr&CGarligen gmileneusd Srams.

Find.the slope of a lin€ joining the. points (5, /5 )'uﬁth the origin.

10V3 8 au_m@omm Garyréden aquﬁ]e&@gg 30 1§ Ggrevaveild gamyuied o arar
S qmaﬂuﬁ]eﬂ@pg,j Garyrsdlen 2 58ulen rpp&Caransmss GTams.

Find the angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of tower 'pf height 103 m. .

704 £.08.8 Qs LpLILFLILY QasrrmL @@ b6 2 Tid 7 Q& LS eraflap, SISET
ETUYWIFLD STeHTs.

If the total surface area of a cone of radius 7 cm is 704 cm?, then find its slant°
height. LT : :

QI %mmuﬁlm <4y Hmb 2 wikisefldr A 5 : 7 @b, sen mmmuguq '
5500 &.0ls.15 crafled 2 (Henamuflen <4rid WHDHID 2 WFLD STETS. :

The .radius and height of a cylinder are in the ratio 5 : 7 and its curved surface
area is 5500 sq.cm. Find its radius and height. - 2

e el 5 Aautiy Hmts uBEISEHD, 6 Qeudtanar APl LBSISEHD, 7 LFms B
UB&IS@RD, 8 &HLIL BN LpFsEHD s-erearar. sweamiuy wapuld eauuldBbs
M Ups TO&ELLGADG. ps LpS () Qeudreer (i) s@mUY Sidweg Sdaiy
-6 Q5566 HEPsEMaIs ETETS.

A bag contains 5 red balls, 6 white balls, 7 green bnlls, 8 black balls One ball is
drawn at random from the bag. Find the probability that the ball drawn is : ’

(if] White (ii) Black or Red |

x -ér wAlienud srems. x2—4x—12,

.. Find the value of x, in R2-4x—12,
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u@g - II / PART - III
@y : semauGuen b 10 NaTrés EhéE a‘i]éml_luaﬂé;asmm. Qe T 42 -85
sLLmuwns eferLwefssayb. 10x5=50
Note : Answer any 10 questions. Question No. 42 is compulsory.
29. QsTR&sULLL 2 poysear @eiCeurarepmuLb. '
(i) SibysEH uLb
(ii) euenyuL_LD
(ili) Llgwed aperpuied GFH&a
{(x, Y/y=x+3, x, y Hweweu Qb eramser <10}
Reﬁresent the given relation by :
(i) an arrow diagram
(i) a graph and
(iii) a set in rostef form, wherever possible

{(x, y¥)/y=x+3, x, y are natural number <10}

30. 1230 wHmWb 1926 e%ba%]u_: GT 63T & &0 61T GJ@GS@LDGUH’Q] B 12 gg, ST&Fm g
Wls0EuMw CTGRTEDEWTS; SHT6HTs.

Find the largest number which divides 1230 and 1926 leavmg remainder 12 in
each case..

o
3l. @M HLBS Qg,m.r'rmheméuﬂ]e&r @:GﬁTu‘é_}‘,rl'QJgj e muller @eTug WLREELWD,
udemapsreug o muder uflmanbg WLRIEGD WD alldr GMmuss prrsmasrrmgd
2 mtnSer M WLESIEE LESWD erer Hlmeys.

If nine times ninth term is equal to fifteen times fifteenth term show that six
times twenty fourth term is zero.

. b2 + 3b - 28 'b’~’-49

32. &(H&GS . ‘ =+ ‘
%0 b2 +4b+4 b2 -5b-14

Simplify b2 +3b—-28 . b% - 49

b2 +4b+4 ' b2 —5b-14
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- 34.

35.°

36.

37.

- 38.

39.
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x =123 +42x2 —36x+9 eranudlen euitdaepeLD ST,
Find the square root of ¥*—12x3+42x2-36x+9.

GEOT wopd 2 +2x-2=0 -g§ Sissalb.
Solve x2+2x—2=0 by Formula method.

Garaw @mswQaly Cappsos awd MmUssab.

State and prove Angle Bisector Theorem.

QM Lnsuﬂgsur 18 15 eﬂgpas(%a; Qeenm Genan 24 8 e &Gs Q&eueﬂ,rprrm Qg,m_a;a;
HeoauaBhg i QmEED C5Tmomaus Hras.

A man goes 18 m due east and then 24 m due north.-. Find the distance of his
current position from the starting point ?

(8, 6), (5 11) (-5, 12) HmID (—4, 3) c%aﬁ]u_l umaﬂa;emm @mm&;mrrasas @asrrasm_
BrH&rsHen LTLIL| STes. :

Find the area of the quadnlateral formed by the points (8 6), (S, 11), ( 5, 12) and
(4, 3) .

(Heul é{@@mlﬁm.aﬁiqﬁ)@ Qeuafludler Hemm@aTan® g perardlen 2 8 LHmID
Sy gfweupeon wenGu 60° wHmbd 45° Ydw gHnsCarammisafle srarSpm.
<jauflén 2 wigb 180 Q&8 Cuoaibd oS yelmHE 5 B Agrameled el o drarmi

aalld garanadler e wrsmss arans. (V3 =1.732)

To a man standing outside his house; the angles of elevation of the top and bottom of
a window are 60° and 45° respectively. If the height of the man is
180 cm and if he is 5 m away from the wall. What is the height of the window ?

| (V3=1.732).

@ 2 mever augeuts Suumfen 2wrd 20 Qg5 wHmID -y liIyp <TID 14 Qs 5
erafléd iz aueneruTLIL) HMID GLOTSSL LpLiLFienLs sres.

'A cylindrical drum has ‘a height of 20 cm and base radius of 14 cm. Find its

- curved surface area and the total surface area.

- [H@miys / Turn over-
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- 40. 484 Q&.1b spweTEyETAT R mué;aminﬁ]cin o Wy 105 Qs.8 eraflev, FalDLG6T &eur

SETANCUE FHTERTS.

If the circumference of conical wooden piece is 484 cm then, find its volume
when its height is 105 cm. : -

41. @uem® STTeT LSHLEET PEODWITE é(?r,r (Sg_r;ug;g]d) é.@Luiuu@éﬂe%T;p%n.

i) Qe Lta;ml_;mﬂgmb é(&y (l,oas.m,ﬂlllq flen_&5

() s .Loﬁchssa‘ﬂén Qu@é;aéﬁ)umeh ué;rr'crsécremrrasé HeL &5
(ili) ops wHOseen ah@geu LIGT GTGTemTTES g é]%mt.é;&

| (iv) @5.Log_ﬂul_|a;aﬂ6%1 0S50 1-25 QH&ES céba%]m Bapsflsetar Hlapssesmars

]  GTENTS. o L ‘ )
Two unbiésed-‘dice are rolled once. Find the probability’ of getting :
(i) A doublet (qu.lal numbérs on‘both dice).
(1i) ~vThe product as a Prime number. |
(1i1) The sum as a Prime number.

(iv) The su.m as 1.

42, @m Uemar xy sasdle (6, 4) eremp Lerefluded 2-crengl. (=5, —11) erem Lerefluled
@ uTdLL Yy @assuULdag. yoa Was Gndu g vweflggl ured
<iphs AmbUApg ald, ureel LGHEGUSDEGS Caameuwrear umranguden

. FLOGTUMLOLS SIS,

A Cat is located at the point (6, 4) in xy plane. A bottle of milk is kept at
(-5, —11). The Cat wishes to consume the milk travelling through shortest
possible distance. Find the equation of the path it needs to take its milk.
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UG - IV / PART - IV
GOy : SdmensSs eNamEsEHH@GD afﬂem_u_lerﬂa;&mm : . 2x8=16

Note : ‘ Answer all the questions.
43. (1) p&Gamantidb PQR -6 @88 USSEISG6 6 aﬁ]eﬂg,Lb'% Grcifrg)eung] @@ euigeurss

W&ECasTeRTD UETS. (SNaTe| Sryenf §> 1)

' . t | 946\)6\)51 __
(<1) 6 Q&5 aSh_L(y)maT QLD euenyhg em_l_ggmﬂ mmwg@aﬂ@pgj 8 Q5.5

Qsrepevedled P erenp Laraflonwis @ilésayb. <itiyerefludalmbg) PA wphmib PB
erenm Q@ CerhGaTRaaT cuamrpg ieupder Bothisamar jerallBs.

(a) Construct a triangle similar to a triangle PQR with its sides equal to g_ of
the'correspbnding sides of the triangle PQR. (Scale factor %}1)

- OR

(b) Draw a circle of diameter 6 cm. From a point P, which is 8 cm away from its
centre, draw the two tangents PA and PB to the circle and measure their
lengths >

4. '(cvq) X2 —9x+20=0 6TEHD FLOGHTLIMTL Iq & mmryuubf@m;r'r_'r)@ Sraflen gemenoam S
aMmIs. :
. Sleoeg | :
(<) y=x2—4x+3- Qe QU TULLD ammr;bgl DS PO x2—6x+9=0 erenp
gwETUT LG ST&Ea|Lb.
(a) Draw the graph of X2 —9x:+ 20=0 and state the nature of their solution.
v .. OR | -
(b)- DraW the gréph of y¥x2—4x+3 and use it to solve x2—6x+9=0.

-000-
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